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MOCK TEST(2018-19)
BOARD: CBSE 
CLASS: X
SUBJECT: SCIENCE
Time allotted: 3 Hours						                Maximum marks: 80

SET - 1
General Instructions:
1. All questions are compulsory. There are 27 questions in all.
2. This question paper has five sections: Section A, Section B, Section C, Section D and Section E.
3. Section A contains two questions of one mark each, Section B contains three questions of two marks each, Section C contains ten questions of three marks each, Section D contains six questions of five marks each and Section E contains six questions(based on practical skills) of two marks each.
4. There is no overall choice. However, an internal choice has been provided in one question of Section B, five questions of Section C and two questions of Section D.



SECTION A:
It contains two questions of one mark each.
Q1. Name any two plants which can reproduce asexually.
Q2. Out of convex mirror and concave mirror, whose focus is situated behind the mirror?
SECTION B:
It contains three questions of two marks each.
Q3. Write balanced chemical equations for the following and identify the type of chemical reactions.
i. Hydrogen iodide on reacting with chlorine gas gives iodine and hydrochloric acid.
ii. On passing electric current through molten aluminium oxide, it decomposes to form aluminium metal and oxygen gas.                 
Q4. Who gave the theory of inheritance? What is mutation?
OR
Giraffe developed long neck – why?

Q5. Why sustainable management of natural resource is necessary? Out of the two methods recycle and reuse which one you will prefer – why?

SECTION C:
It contains ten questions of three marks each.
Q6. Identify the compounds A, B and E in the following reaction sequence.

(i) 



 (iii) 
Or
Complete the following reactions and name the main product formed in each case.

                                                   
Q7. Write the name and formula of each of the following
(i) An acidic salt            (ii) A basic salt                 (iii) A neutral salt       
Q8. Identify the type of chemical reaction taking place in each of the following.
i. Barium chloride solution is mixed with copper sulphate solution and a white precipitate is observed.
ii. On heating copper powder in air in a China dish, the surface of copper powder turns black.
iii. On heating green coloured ferrous sulphate crystals, reddish brown solid is left and smell of a gas having odour of burning sulphur is experienced.
OR
What happens when a piece of 
i. Zinc metal is added to copper sulphate solution?
ii. Aluminium metal is added to dilute hydrochloric acid?
iii. Silver metal is added to copper sulphate solution? 
Also, write the balanced chemical equation if the reaction occurs.    
Q9. Rocky saw a snake in his garden, while playing. List the changes taking place in his body in such a situation.
OR
(i) Name the part of brain which controls
(a) Voluntary actions
(b) Involuntary actions
(ii) Forebrain is the main thinking part of the human brain. List any two major functions of this part
Q10. (i) Draw a neat diagram of the stomatal apparatus found in the epidermis of leaves. Label the stomatal aperture, guard cells, chloroplast and epidermal cells.
(ii) What is the shape of guard cells?
Q11. An object of 5 cm height is placed at a distance of 10 cm from a convex mirror of radius of curvature 30 cm. Find the nature, position and size of the image formed
OR
How the observation of images does formed help in identifying the type of mirror?
Q12. Ram is given lenses with powers +5D, -5D, +10D, - 10D and-20 D. Considering a pair of lenses at a time, which two lenses will be selected to have a combination of total focal length when two lenses are kept in contact in each case.
(i) -10 cm (ii) 20 cm iii) -20 cm
Q13. (i)Explain the following terms connected with the eye.
(A) Ciliary muscles                          (B) Blind spot            
(ii) What is the nature of an image formed on the retina of the eye?
Q14. Several electric bulbs designed to be used on a 220 V electric supply line are rated at 10 W. How many lamps can be connected in parallel with each other across the two wires of 220 V line, if the maximum allowed current is 5 A?          
OR
(i) Give the function of the Earth wire in electrical instruments. Why is it necessary to Earth the metallic electric appliances?
(ii) What are the harmful effects of overloading in an electric supply? When does it occur?
(iii) What is the capacity of fuse wire in the line to feed?
(a) Lights and fans?    (b) Appliances of 2 kW or more power?
Q 15. What are magnetic field lines? Justify the following statements.
(i) Two magnetic field lines never intersect each other.
(ii) Magnetic field lines are closed curves.

SECTION D:
It contains six questions of five marks each.
Q16. Given below are few elements of the modern periodic table. Atomic number of the element is given in the parenthesis-                             A(4) , B(9) , C(14) , D(19) , E(20)
i. Select the element that has one electron in the outermost shell. Also write the electronic configuration of this element.
ii. Which two elements amongst these, belong to the same group? Give reason for your answer.
iii. Which two elements amongst these belong to the same period? Which one of the two has bigger atomic radius?  

()                                                                                                                    
OR
Consider two elements A (atomic number =17) and B (atomic number =19)
i. Write the positions of these elements in the modern periodic table giving justification.
ii. Write the formula of the compound formed when A combines with B.
iii. 
Draw the electron dot structure of the compound and state the nature of the bond formed between the two elements. ()                                                                                                                               
Q17. Choose from the following metals to answer the questions below:
Aluminium,     Calcium,     Copper,     iron,     magnesium,     potassium,     nickel,      zinc 
Name a metal which: 
i. Is manufactured by the electrolysis of its molten oxide.
ii. Is used to galvanize iron.
iii. Is alloyed with zinc to make brass.
iv. Reacts with aqueous copper (II) sulphate to give a pink solid.
v. Does not react with cold water
Q18. Draw a labeled diagram to represent the energy flow in an ecosystem.
Q19. A pea plant with axillary flower having purple color is crossed with a pea plant having white colored terminal flower. Find the phenotypic ratio of all the off springs of second fraternal generation.
[image: ]Q20. Figure of male reproductive system is shown below: 
(i) Name the parts labelled A to F, in the given figure.
(ii) Name the following
(a) Place where sperms become mature and develop motility.
(b) Passage for both urine and spermatic fluid.
(c) Secrete fluid for nourishment of sperms
(d) Produce sperms

OR
(i) Why is the flow signals in a synapse from axonal end of one neuron to dendritic end of another neuron but not the reverse?
ii) Mention some limitations to the use of electrical impulse.
Q21. How does a solenoid behave like a magnet? Can you determine the North and South poles of a current-carrying solenoid with the help of bar magnet? Explain

SECTION E:
It contains six questions of two marks each. These questions are based on practical skills.
Q22. Given two test tubes ‘A' and 'B’, test tube A contains blue litmus solution and test tube 'B contains red litmus solution. A solution with pH 2 is added in both the test tubes. In which of the two would you observe a colour change?
Q23. When air is blown from mouth into a test tube containing lime water it turns milky. Why?
[bookmark: _GoBack]Q24. A student is performing an experiment to observe the stoma from mount of leaf peel. At the end of the experiment he could not take observation clearly. Give reasons.
Q25. A student is observing a permanent slide showing sequentially the different stages of asexual reproduction taking place in yeast. Name this process and draw diagrams of what he observes in a proper sequence.
Q26. In an experiment with a rectangular glass slab, student observed that a ray of light incident at an angle of 60° with the normal on one face of the slab, after refraction strikes the opposite face of the slab before emerging out into air making an angle of 42° with normal. Draw a labelled diagram to show the path of this ray. What value would you assign to the angle of refraction and angle of emergence?
Q27. In order to study the different combination of resistances, a student made two different combinations of resistance connected with a voltage source as shown in figure (C) and (D). Which resistor arrangement, C or D has the lower resistance?
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